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Question 11- A and B have monthly incomes in the ratio 6:5 and

their monthly expenditures in the ratio 4:3. If they save Rs. 1600 and Rs. 

1800 respectively per month, then the monthly income of B is :

प्रश्न 11- A और B की मासिक आय 6:5 के अनपुात में ह ैऔर उनके मासिक व्यय का 

अनपुात 4:3 ह।ै यसि वे प्रसत माह क्रमशः 1600 रुपये और 1800 रुपये की बचत करते हैं, तो 

B की मासिक आय क्या ह?ै

A. Rs 7200

B. Rs 5800

C. Rs 6400

D. Rs 6000

A. Rs 7200

B. Rs 5800

C. Rs 6400

D. Rs 6000
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Question 1- The sum of two numbers is 16. If the digits are interchanged 

then the number increased by 36. Find the original number.

प्रश्न 1- िो िंख्याओ ंका योग 16 ह।ै यसि अंकों को आपि में बिल सिया जाता ह ैतो िंख्या में 

36 की वसृि होती ह।ै मलू िंख्या ज्ञात कीसजए।

A.70

B. 106

C. 110

D.120
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Question 2- Ram can do a work in 100 days and with the help of Shyam he 

can do the same work in 60 days. In how much time Shyam can do the 

same work.

प्रश्न 2- राम एक कायय को 100 सिनों में कर िकता ह ैऔर श्याम की िहायता िे वह उिी कायय 

को 60 सिनों में कर िकता ह।ै श्याम उिी कायय को सकतने िमय में कर िकता ह?ै

A.120 days

B. 150 days

C. 100 days

D.80 days
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Question 3- A person have a saving of Rs 1200 and his expenditure is 75% 

of his income. Find his income.

प्रश्न 3- एक व्यसि के पाि 1200 रुपये की बचत ह ैऔर उिका व्यय उिकी आय का 75% 

ह।ै उिकी आय ज्ञात कीसजए।

A.Rs 3600

B. Rs 4000

C. Rs 4800

D.Rs 6000
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Question 4- If a person increases his speed from 25 km/r to 30 km/hr then 

he reaches from his home to office 20 minutes before. Find the distance 

from his home to office.

प्रश्न 4- अगर कोई व्यसि अपनी स्पीड 25 सकमी/घंटा िे बढाकर 30 सकमी/घंटा कर ितेा ह ैतो

वह अपने घर िे ऑसिि 20 समनट पहले पह चं जाता ह।ै उिके घर िे कायायलय की िरूी ज्ञात 

कीसजये।
A.40 km

B. 30 km

C. 60 km

D.50 km
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Question 5- A train running with speed 60 km/hr crosses a pole in 54 

seconds. Find the length of train in meter.

प्रश्न 5- 60 सकमी/घंटा की गसत िे चलने वाली एक टे्रन एक खभंे को 54 िेकंड में पार करती 

ह।ै मीटर में टे्रन की लंबाई ज्ञात कीसजये।

A.1000 meter

B. 900 meter

C. 800 meter

D.700 meter
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Question 6- A train of length 400 meter running with speed 72 km/hr

crosses a bridge in 90 seconds. Find the length of bridge in meter.

प्रश्न 6- 72 सकमी/घंटा की गसत िे चलने वाली 400 मीटर लम्बी एक टे्रन एक पलु को 90 

िेकंड में पार करती ह।ै मीटर में पलु की लंबाई ज्ञात कीसजये।

A.1200 m

B. 1300 m

C. 1400 m

D.800 m
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Question 7 A boat goes from point P to Q downstream and returns from Q 

to A then total time taken was 6 hours. If the speed of boat and the stream is 

6 km/hr and 2 km/hr then find the distance.

एक नाव धारा के अनकूुल सबंि ुP िे Q तक जाती ह ैऔर Q िे A तक वापि आती ह,ै तो 

सलया गया कुल िमय 6 घंटे था। यसि नाव और धारा की गसत 6 सकमी/घंटा और 2 सकमी/घंटा 

ह,ै तो िरूी ज्ञात कीसजये।

A. 12 km

B. 16 km

C. 18 km

D. 20 km
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Question 8 Find the average of 6 consecutive odd numbers a, b, c,

d, e and f.

प्रश्न 8 6 क्रमागत सवषम िंख्याओ ंa, b, c, d, e और f का औित ज्ञात कीसजए।

A.
𝑎+𝑓

2

B.
𝑏+𝑐

2

C.
𝑎+𝑏

2

D.
𝑐+𝑑

2
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Question 9 The average of four consecutive odd number is 26. Find the 

largest number.

प्रश्न 9 चार क्रमागत सवषम िंख्याओ ंका औित 26 ह।ै िबिे बडी िंख्या ज्ञात कीसजए।

A. 23

B. 25

C. 29

D. 27
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Question 10- The average of 5 consecutive number is 31. Find the largest 

number.

प्रश्न 10- क्रमागत 5 िंख्याओ ंका औित 31 ह।ै िबिे बडी िंख्या ज्ञात कीसजए।

A. 30

B. 31

C. 33

D. 28
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Question 11- A certain sum of money becomes 3000 in 2 years and 4500 in 

5 years. Find the principal.

प्रश्न 11- एक सनसित धनरासश 2 वषों में 3000 और 5 वषों में 4500 हो जाती ह।ै सपं्रसिपल का

पता लगाएं।

A. Rs 1500

B. Rs 2000

C. Rs 1800

D. Rs 1600
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Question 12- Find the compound interest on a sum of Rs 40,000 at 20% per 

annum for 9 months when interest compounded quarterly.

प्रश्न 12- 40,000 रुपये की रासश पर 9 महीने के सलए 20% प्रसत वषय की िर िे चक्रवसृि ब्याज

ज्ञात कीसजये जब ब्याज तै्रमासिक रूप िे िंयोसजत होता ह।ै

A. Rs 6305

B. Rs 5505

C. Rs 4505

D. Rs 2522
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